
■ 次のたし算をしましょう。

① 661 + 388 = ⑭ 817 + 818 =

② 353 + 401 = ⑮ 167 + 602 =

③ 236 + 492 = ⑯ 598 + 567 =

④ 476 + 830 = ⑰ 930 + 469 =

⑤ 611 + 877 = ⑱ 272 + 790 =

⑥ 856 + 547 = ⑲ 494 + 424 =

⑦ 955 + 224 = ⑳ 751 + 974 =

⑧ 281 + 397 = ㉑ 215 + 201 =

⑨ 912 + 597 = ㉒ 370 + 555 =

⑩ 205 + 721 = ㉓ 965 + 344 =

⑪ 628 + 366 = ㉔ 349 + 931 =

⑫ 274 + 668 = ㉕ 218 + 705 =

⑬ 684 + 619 = ㉖ 389 + 975 =
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■ 次のたし算をしましょう。

① 661 + 388 = 1049 ⑭ 817 + 818 = 1635

② 353 + 401 = 754 ⑮ 167 + 602 = 769

③ 236 + 492 = 728 ⑯ 598 + 567 = 1165

④ 476 + 830 = 1306 ⑰ 930 + 469 = 1399

⑤ 611 + 877 = 1488 ⑱ 272 + 790 = 1062

⑥ 856 + 547 = 1403 ⑲ 494 + 424 = 918

⑦ 955 + 224 = 1179 ⑳ 751 + 974 = 1725

⑧ 281 + 397 = 678 ㉑ 215 + 201 = 416

⑨ 912 + 597 = 1509 ㉒ 370 + 555 = 925

⑩ 205 + 721 = 926 ㉓ 965 + 344 = 1309

⑪ 628 + 366 = 994 ㉔ 349 + 931 = 1280

⑫ 274 + 668 = 942 ㉕ 218 + 705 = 923

⑬ 684 + 619 = 1303 ㉖ 389 + 975 = 1364

たし算の暗算
年 組 名前
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